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N 1 Atthebusstop _ a soldier and two young people on
< their way to North Carolina.
(A) were (B) was
) is (D) waiting
2 The atmosphere is as much a part of the earth as its
soils and the water of its lakes,rivers and oceans.
(A) s (B) are
(C) do (D) has
3 The food and the textile industry  agriculture for raw
material.
(A) depend mainly on
. (B) depends mainly on

(C) are depended mainly on
(D) is depended mainly on
4 The singer and dancer

our evening.
(A) is to attend

(B) were to attend

(D) is attended
5 The iron and steel industry

socialist production.

(A) are
(C) will

6 Every means

(C) are to attend

the key link in the

(B is
(D) be

tried out but never with success,as far
as my k. owledge goes.
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(A)is (B) has been
(C) are (D) have been
7 All possible means _____ tried since then.
(A) has been (B) have been
(C) was (D) had been
8 An iron and steel works _ in our city.
(A) is to build (B) is to be built
(C) have to build (D) have been built
9 Two aircraft __ in the terrible accident.
(A) was damaged (B) damaged
(C) were damaged (D) have damaged
10 Therich __  contented.
(A) is not always (B) hasn* always
(C) are not always (D) haven’t always
11 The good in him _____ the bad.
(A) will outweight (B) outweights
(C) outweight (D) outweighted
12 The average family ____ four members at most is a great
' deal smaller than it used to be
(A) which now consist of
(B) which now consists of
(C) who now consist of
(D) who now consists of
13 Strange to say,the majority of the students __in favour
of John’s proposal
(A)is (B) be
(C) are (D) was
14 The family never ____ shares of the property.

(A) agrees about her (B) agrees about its

<4
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(C) agree about their (D) agree about his
15 The police _ decided whether or not _ the four
young men with possession of illegal drugs.
(A) have .., to charge (B) has .., charge
(C) had .., to charge (D) have .., charging
16 The population of the small town _ in the past five
years. | ‘
(A) have doubled (B) has doubled
(C) doubled (D) doubles
17 Theclass ___ have a picnic on Sunday.
(A) has agreed to -(B) have agreed to
(C) has agreed (D) have agreed
18 Eight per cent of the population here _ peasants
(A) is (B) are
(C) has been (D) was
19 A body of volunteers __ to aid the helpless in their
struggle for survival.
(A) have been organized  (B) have organized
(C) has been organized (D) are organized
20 The office staff __ gathered to hear the president
speak.
(A) are B) is
(C) has (D) will have
21 Ours ____ a great people.
(A) be (B) are
(©) is (D) were
22 Here _ a pen,a few notebooks and some paper for
you.

(A) is (B) are
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(C) will be (D) were
23 There  plenty of room for improvement in the design.
(A)is (B) are
(C) will be (D) have been
24 paper and pencils in the supply room.
(A) There are (B) It is
(C) There is (D) It has
25 ten people in the lecture hall.
(A) There is (B) There was
(C) There wasn't (D) There were
26  More leisure, as well as abundance of goods,
attainable through automation.
(A) are (B) is
(C) have been (D) have
27 John’s father, along with his two uncles,  that he
in New York one more day.
(A) demands .., stays (B) demands .., stay
(C) demand ., stays (D) demand .., stay
28 “Was everybody present at the meeting?” “No, All but one
there. ”
(A) was (B) were
(C) has gone (D) had been
29 My friends rather than I __ eager to take part in the
experiment.
(A) am (B) are
(C) was (D) will be
30 The reading course book, plus its reference books,

helpful to college students.
(A) are (B) be
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31

32

33

34

35

36

37

38

©)is (D) have been
A high salary,combined with good fringe benefits,

high efficiency among workers.

(A) ensures (B) is ensured

(C) ensure (D) have ensured

Neither his parents nor he _ at home now.

(A) are (B) is

(C) will be ~ (D) is to be

Not only T but also he _ this job.

(A) want to do (B) wants to do

(C) want doing (D) wants doing
my wife T myself am able to persuade my

daughter to change her mind.

(A) Either .., or (B) Neither ... nor

(C) Both ... and (D) Between ... and

Some of the rice

(A) has been spoiled (B) were spoiled

(C) have been spoiled (D)) are spoiled

One-third of the machines on display at the fair of 1990

new items or varieties.

(A) is (B) had been
(C) are (D) were
Three-fourths of the earth’s surface _ covered with
water. ‘
(A) is (B) has
(C) are (D) have
of the players in this team _____ from Shanghai.
(A) Two-third ... is (B) Two-third .., are

(C) Two-thirds ... are (D) Two-thirds .,, is
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39 All of the cake
(A) is eaten up (B) are eaten-up
(C) has eaten up (D) have eaten up
40 All that can be done
(A) has been done (B) have done
(C) has done . (D) have been done
41 “Which bus should I take to go to the stadium?” “Either of
these buses __ to the stadium. ”
(A) will go (B) going
(C) go (D) goes
42 Every flower and every bush
(A) is to cut down (B) are to cut down
(C) is to be cut down (D) are to be cut down
43 Each proton and each neutron __ almost the same mass
any other proton or neutron.
(A) have ... as (B) has .., like
(C) have ... that (D) has ... as
44 Many a student and teacher ___ practice in this plant.
(A) are having (B) is
(C) is having (D) are
45 is excused from taking part in such a heated
discussion.
(A) Both teachers and students
(B) Neither teachers nor students
(C) No teacher and no student
(D) Either students or teachers
46 More than one son of his _ a degree from Oxford
University.
(A) has taken . (B) have tuken

(C) have been taken (D) has been taken
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47 George is one of those people who _ trouble making up
their minds.
(A) are (B) is
(C) have (D) has -
48 Those forces acting on a giv.en body __ exerted by other
bodies are referred to as external forces.
(A) which was (B) that is
(C) which are (D) which is
49 I,who __ your friend,will try my best to help you.
(A) am (B) be
) is (D) being
50 Nowadays plastics  many natural materials.
(A) is used to taking place of
(B) are used to be taken the place of
(C) is used to take the place of
(D) used to take the place of
51 News of victories ___ pouring in.
(A) keep (B) keeps
(C) have kept (D) is kept
52 Chemistry ____ the science of substances _  the
science of energy.
(A) is .., is physics (B) being ... or physics
(C) is ,,. physics is (D) is ... and physics
53 Statistics _____thai there is a great increase in product'ion.
(A) shows (B) show
(C) showed (D) has shown
54 Mathematics _ the language of science.
(A) are (B) is

(C) will be (D) have been
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55 Three years in a strange land a long time.
(A) sound like (B) feels like
(C) seems like (D) look like
56 “What do you need?” “Two dollars all I need,”
(A) being (B) is
(C) have been (D) are
57 Five pounds not buy as much as used to.
(A) does ... it (B) did ... they
(C) do ... they (D) does .., that
58 Twice three Six.
(A) make (B) is equal
(C) is equal to (D) made
59 This pair of shoes
(A) belongs to me (B) is belonged to me
(C) belong to me (D) are belonged to me
60 “What supposed to be new proposals in fact
modifications of earlier ones.
(A) was .., was (B) were ..., was
(C) was .., were (D) were .., were
61 The results of the examination that you have all
made good progress.
(A) show (B) shows
(C) will show (D) has shown
62 The replacement of shops such as the grocer’s and chemist’s
by cafes the housewives with insufficient facilities for
shopping.
(A) leave (B) has left
(C) have left (D) is leaving
63 Twenty million tons of steel export that year.

(A) were (B) was
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(©) is (D) are
64 errors committed by him was surprising.
(A) Many a (B) The number of
(C) The amount of (D) A number of
65 Early to bed and early torise  a man healthy. happy
and wise.
(A) make (B) has made
(C) makes (D) will make
66 Growing vegetables . constant watering.
(A) needs (B) need
(C) are needed (D) is needed
67 What caused the accident ___ on the road.
(A) were stone (B) was stone
(C) were stones (D) was stones
68 The salesman told me that a good set of tires _ to last
at least twenty thousand miles.
(A) is supposed (B) was supposed
(C) were supposed (D) are supposed
69 A series of debates between the lectures __ scheduled
for the next weekend.
(A) have (B) has
(C) were (D) was
70 Nobody but Sam and John __ in the laboratory when 1
was making an experiment.
(A) were (B) was
) is (D) are
71 There ___  in this room.

(A) are too much furniture

(B) is too many furniture
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(C) are too much furnitures
(D) is too much furniture
72 The kind of books an author writes _ on the kind of
man who he is.
(A) was depended (B) depend
(C) were depended (D) depends
73 Where __ dirt,there are flies.
(A) there was (B) has there
(C) there is (D) is
74 That day the audience _____ in a variefy of ways.
“(A) were dressed (B) are dressed
(C) was dressed (D) dressed
75 The surroundings of his house __ clean now.
(A is (B) are
(C) was (D) were
2 WAAiEAT6—150 M)
76 He concluded his speech with a remark that honesty
the key to success. ;
(A) is (B) were
(C) was (D) must be
77 It was not until then that I came to know that knowledge
only from practice.
(A) had come (B) came
(C) has come (D) comes
78 Copernicus maintained that the earth _ round the sun.

(A) moves (B) moved
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(C) moving (D) move

79 Hit ___ rain tomorrow,well have the party outside.
(A) wouldn’t (B) doesn’t
(C) didn’t (D) won’t

80 Il take down your name and address incaseyou __ asa
witness.
(A) are needed ' (B) need
(C) will be needed (D) will need

81 If one by pride,one will reject useful advice and
friendly assistance.
(A) overcomes (B) has been overcome
(C) is overcome (D) overcame

82 If traffic problems are not solved soon, driving in cities

impossible.

(A) becomes (B) will become
(C) will have become (D) become

83 “When will the plane arrive?” “I will tell you when
(A) T have been finding out (B) I am finding out
(C) 1 find out (D) I will find out

84 “Class __at eight. It’s time to go now. ”
(A) begins (B) will begin
(C) begin (D) is beginning

85 “When you __ the room,make sure ___ the door.”
(A) leave ... you lock
(B) leave ... you will lock
(C) leaving ... you will lock
(D) are to leave .., you lock

86 I should very much like to have gone to the party but I



